


animals or clothes of human beings so as to be carried from one

place to other.

® Maize seed is called maize grain because unlike dicot seeds, it

has seed coat fused with the pericarp.

Check Point 1

1.

cell 2. Robert Hooke 3. shape 4. 15-20 cm 5. unicellular

Check Point 2

1.

Nucleus 2. Chloroplast 3. Cell wall 4. Leucoplasts

5. Cell division

TEST YOURSELF

Al
B. 1.

Blood 2. Microscope 3. cytopia‘sm 4. cell sap 5. Nucleus

Cell wall 2. Robert Hooke 3. Staining 4. Chromoplasts 5. Nucleus

6. Nucleolus 7. Chromatin fibres 8. Chloroplast

C.L

Unicellular organism is formed of just one cell, e.g., Amoeba,
yeast, etc., while multicellular organism is formed of many cells,
e.g., neem, fish, etc.

. Chloroplast is a green plastid due to the presence of chlorophyll.

It gives green colour to leaves and carries out photosynthesis.
Chromoplast is a coloured plastid. It gives colour to flowers and
fruits. ' '

. Nucleus is the control centre of the cell. It stores hereditary

information and passes it to the next generation. Nucleolus is a
rounded body present in the nucleoplasm. It forms ribonucleic
acid for ribosomes.

1. A rigidjcell wall formed of|1. Cell wall is absent.
cellulose is preésent.

2. Chloroplasts are present. |2. Chloroplasts are absent.

3. Vacuole or vacuoles are|3. Vacuoles are absent.
present.

4. Centrosome is absent. 4. Centrosome is present near
~ the nucleus.

5. Nucleus is shifted to one|5. Nucleus is centrally placed.

side.
6. Units of Golgi complex are|6. Golgi complex is prominent

scattered in the cytoplasm and forms one complex unit.
and are called dictyosomes. ' :
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THINK ZONE

® A cell is so tiny that it cannot be seen with the naked eye.
Therefore, it was discovered only after the invention of
microscope.

® As the nucleus controls all the activities of the cell, so, if the
nucleus of a cell is taken out, the functioning of the cell would
be disturbed and no vital reaction would take place.

- Check Point 1
1. Glucose 2. more 3. amino acids 4. D; K 5. Ingestion
6. assimilation

Check Point 2
1. Incisors 2. milk; permanent 3. Teeth 4. taste buds
5. gullet 6. digestion
Check Point 3
1. Stomach 2. Villi 3. Anus 4. Small intestine 5. Salivary glands
6. Liver

Check Point 4 :
1. Hydrochloric acid 2. Salivary amylase 3. Egestion or Defecation
4. Amino acids 5. Large intestine 6. Bile

Check Point 5 _ :
1. Obesity 2. Kwashiorkor 3. Balanced diet 4. Marasmus

TEST YOURSELF

A. 1. glucose 2. cardiac sphincter 3. Tongue 4. gall bladder 5. Wisdom
teeth 6. villi 7. energy-giving
B. 1. Dentition 2. Salivary amylase 3. Canines 4. Peristaltic movements
- 5. Chyme
C. 1. Chewing is the process of breaking down of solid food into small
pieces with the help of premolar and molar teeth.

9. Assimilation is the utilisation of absorbed nutrients by the body
cells for energy, growth, repair and replacement of damaged
tissue.

3. Ingestion is the process of intake of food from outside into the
alimentary canal through mouth.

4. Faeces is the undigested semisolid remains of food that enters
the rectum from large intestine.
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Check Point 1

i
3.
4.

Habitat 2. Abiotic or physmal components
Brackish water, estuaries, bays, seas and oceans
Air bladder 5. Spines 6. Nocturnal animals

Check Point 2

1:

wings 2. needle 3. mountain 4. rudder

TEST YO ELF

A5
4.
Bk
6.
9.
(o |

biotic or living 2. Water hyacinth (Eichhornia) 3. spines

Camel 5. mountain

Aerial animals 2. Habitat 3. Fins 4. Gills 5. Mountain habitat
Xerophytes (Cacti) 7. Aquatic plants 8. Evergreen trees
Conifers

. The waxy covering on the surface of leaves of hydrophytes

prevents them from rotting in water.

Caudal fin in fishes functions like a rudder and helps in changing
the direction during swimming.

. Feathers on the body of birds keep them warm and light.

The padded feet of camel help it walk on hot and slippery sand
without sinking in it.

. The place where an organism lives is called its habitat.

The types of habitat are as follows:
(a) Aquatic habitat

(b) Terrestrial habitat

(c) Aerial habitat

. (a) Fish and whale have streamlined body shape.

(b) They have fins to swim.

. (a) In desert plants such as cacti, leaves are modified into spines

~ to prevent water loss from their surface.
(b) Stem becomes spongy and succulent to store water.

. The main adaptations in fir and pine trees for mountain ]er are

as follows:

(a) They are evergreen trees and can photosynthesise Whenever
there is sufficient hght 3

(b) Their trunk is covered with thick bark to protect against
extreme cold and draught.
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10 Essential ICSE Chemistry for Class 6

Objective Questions

Choose the correct option.

1. In which of following cases does the substance change?
M/'he burning of paper
(b) The freezing of water
(c) The melting of ice
(d) The formation of water vapour
2. Which of the following is a physical change?
(a) The cooking of food
(b) The digestion of food

Mhe formation of water vapour
(d) The growth of a plant

3. Who gave the periodic table of elements?

(a) Boyle Mendeleev

(c) Dalton (d) Lavoisier

4. Who is considered to be the father of modern chemistry?

(a) Mendeleev (b) Dalton
\yflavoisier (d) Priestley
Fill in the blanks.

1. Chemistry is the science of ..4.. and their .../ . (subsggces / trans@'matior\s / gases)

. . S O,
2. Anything that occupies ...a. and has..4.. is matter. (m31s$/space/colour)
hh ;‘{_f_‘t\..f'_a

e
3. A substance does not change in a ... change. (physical /chemical)

Chermicok

—
4. A substance changes in a ...... change. (physical /chemical)

Ag v
5. Alchemists could not change 29 metals into gold. (base/ costly/soft)

cPnaschis / e
6. Mendeleev ..... the elements. (discovered /classified)
Write ‘T for true and “F for false for the following statements.
1. A substance is transformed after a chemical change. W
2. }}{%hemists changed iron into gold. Fod&e
3. Dalton classified the elements into eighteen groups. Falas

Daltevt
4. Priestley gave the atomic theory. m
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Essential ICSE Chemistry for Class 6

Air is made up of matter. It contains oxygen, nitrogen, carbon dioxide, water vapour, some other
gases including argon, and soot and dust.

Oxygen and nitrogen are the major components of air. Oxygen makes up about 1/5 and nitrogen
and other gases, about 4/5 of air.

Air is essential for all living things—plants and animals.

Carbon dioxide is used by plants for photosynthesis. Oxygen is given out in the process.

Oxygen is used by plants and animals for respiration. Carbon dioxide is given out in the process.
Air is used for photosynthesis, respiration, and as a source of some gases like nitrogen and argon.
It also helps regulate the temperature of the earth.

The wind (air in motion) is useful in many ways. Clouds move with the wind, bringing rain to
different places. The wind disperses the seeds and also the pollen of the flowers of many plants.
It helps in the winnowing of food grains. Sailboats use the energy of the wind. Windmills use the
energy of the wind to produce electricity.

—‘;\1\’--‘"'; a9 = - -~

f/ & A . = e Pl - /
@ Two elumenTA Dyt AeNT . A WP F .fg'.-f’
3 - - IF—IF" (\{_‘-‘/JC yOLﬂJ r"j:_ _.'i :" 4
<7 A & - { £ }':: LAl '.’"-f !, .:'.L-":r‘ £ '.I s § |h L] C\' 'I."J [ ]
At P 0 ¥ . 2 2 5 z /
Short-Answer Questions Lo
1. Why do air bubbles come out when soil is added to water? P &4
2. Why is the presence of air in the soil essential for plants? (. A/
3. Name two elements and two compounds present in air.
4. Name two major components of air and their approximate proportions. (1~
5. Is the composition of air strictly fixed? . = 5 .|| 4o
6. Where would you expect a higher proportion of carbon dioxide in air? ~ Vi, - 69 = [ for!
7. In which season would you expect a higher proportion of water vapour in air? "1 7. . £¢ - 3
8. Which gas is formed when carbon is burnt in air?
Long-Answer Questions a " Ly assiisien] G - Bl by
Lons nsver auestion: TR L S I U

¢~ 1. How would you prove that a so-called empty glass is not emptyg What does it contain?

2.
3.
4.

Describe an activity to show that natural water contains air. Pii-6u
How would you show that a candle needs air to burn? =~ £ &

Mention five important uses of air. P(~- 7¢ |

Objective Questions

Choose the correct option.

i1

Fish derive oxygen from
(a) water because it is a compound of hydrogen and oxygen
(b) the soil below water



Air
bf( the dissolved air
(d) the atmospheric air
2. Air occupies space and has
(a) colour : (b) smell
M mass (d) none of these
3. Which of the following components of air is used in photosynthesis?
(a) Nitrogen (b) Oxygen
l,kféarbon dioxide (d) Dust

4. Which gas is released in photosynthesis?

(a) Nitrogen ‘,ﬁ(Oxygen

(c) Carbon dioxide _ (d) Water vapour
5. Which of the following components of air is used in respiration?
(a) Nitrogen ‘,(M,Oxygen
(c) Carbon dioxide (d) Water vapour
6. Which gas is released in respiration?
(a) Nitric oxide (b) Carbon monoxide
ygerCarbon dioxide (d) Sulphur dioxide
| Match columns A and B.
A B
(i) Air &(a) a compound
(ii) Water Y=(b) an inactive gas
(iii) Oxygen A.(c) a mixture
(iv) Nitrogen 3 (d) an active element
Fill in the blanks.
1. The earth is surrounded by a thick blanket of ....... (ahlf/ water)
2. Water, when p&med into a glass, displaces ...... from the latter. (air /nothing)
3. Air is a gaseous ... g {compound /mixture)
i 4. A diver carr1es@)C f‘cir respiration. (nitrogen/ oxlf/e‘n)
| . A diver carries .....! :
| 5. The 243 present in air helps in the formation of clouds. (nitrogen/dust)

Write ‘T’ for true and ‘F’ for false for the following statements.
1. The oxygen-to-nitrogen proportion in air is 1__‘__§ P
2. There is a vacuiim in an empty glass. =
3. Carbon dioxide turns limewater milky. T~
4. Anhydrous copper sulphate (X:hite) turns blue with water. =T~
NG, am
5. Nitrogen is combustible but not a supporter of combustion. F'
6. The dust present in air helps the formation of clouds. )

S



Subject-Computer

For Std V to VIII

Kindly read the chapters according to the syllabus and solve exercise and do th :
revision.
You can download the mobile app from Google App store that provides the solvi
excercises.

To download the App type IT Planet W and then Class Eg. IT Planet W class V
The chapters will be explained in the class later.
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MPLALA IS A BEAUTILFLL AND IAMSPIRPTIONAL POEM ORITTEN

L ABY RADANN MEPDRIB . THE PoET HAS WRITTEN THLS Pofnn

7o _THROW A SHOWER OF LILHT ON THE LIFE , £XPERIEAKE Ao
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* Exercise

7 8 &l = (Know the Lesson)

#HiRaes fawcor FfSTe— (Oral analysis)
fFacam g fidern e e 1S ?

feme Sitedal gant fewe AT U= g<il A 991 981 9917 ?
YR T2 I TR W1 SN IR a1 Feed & 7

el B gas e & forg w=r off 1 9% fad fyerarn 7

qgfwe ge= (MCQs)

HE IR T fAweq 9¥ v AMSe— (Tick () the correct answer.)
LT of B SeEa ded| &l dier 941 de 8l T8 ?

() i a= ¥ & Ragd o em ars Raren ()
(i) i at S I v feee wE wdar o (V]
(i) TN TR Y ()
(iv) wfEIERTR-GeH S =)
WIS B ?

0 e () i) gt (i) et () (v) Reesiemat ()
T O el B el o T P
W emd () i) sram( i) s (V) (v wResw ()

e el d UEI— (Short answer type questions)
TSEES?
Fear S e —aimar a1 :
el = =T S B feehe = 81 T T BN qerr ?

. . :

-

ST
ol g ac A fede T8 e G en ?

= r .

b

TN & 92 ) 31 feae amn &) & war o it & 2
B e F T T T
Eref I8 TSI (Long answer type questions)
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Frferfra gerst & arf formew s aret # gai G- (Write the meanings of

the following idioms and use them in your own sentences.)

A i T

e dedH a—

o ¥ H9 9 M-

A de -

Fr=ferfaa areat # & faan-fadyor geaw Yaifda - (Underline the adverb in
the following sentences.)
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orecref word Meaning

_ FGY - HIA (tactful) fAgor - 2w (skilled)
_ fagar - 09T (misfortune, calamity) 2@1 - e (responsibility)
_q S - IEAE, WERT (support, shelter) 3TaT - 97 (control)
_ WIS - I (judgement) foms - ada, w@wra (mood)
&l - fa9" (polite) WEF - A H S (religious gift of a cow)
si|ifie - aifaw b (funeral) smre - f3ded (request)
_ BN - THEl (piece) G} - 9T (vow)
PASl - IEHMH A 916H (grateful)  wmETa - TR, FHE (in the shape of)
YEMT - WHHRY (the happy state GUTEE - deTH (unbridled)
of wifehood)
TS # 1Y FETAR— (Idioms from the lesson)
o9 UETS-WT AT - St ST 98 Hfedet o (hard life.)
MY ¥ 9TEN BT - %ﬁ@dﬂﬂﬂuﬁﬁ?:ma_m”onc.._:o_oe_m:_._mm:mm:
. fm@ﬂ%&%mﬂﬂ - 3rgEEfed 814 (surprised) )
e

. &@ﬁgﬂ%@ﬂl (Oral analysis)

L g 3R 30 & erag g sfaw o ?

2. I guri A fegarar ?

3. WANM A d sidfesW i wawfem?
4. FoEREE A gaT A Ty urRfEr 2

*

agfawedia s (MCQs)

W IR AT fR@ew wv v e (Tick (v) the correct answer,)
1. gy & foareg—

i woeRe ()

| (i) &R O
ﬁ (i) g TER ()

(v =R ()
.y ..M».I.@..’,.M. e

¥ Mﬂ
L J
i

H1eAT-fora <t Syar I e 7 ?
(i) = (i) gt “
(iiy = () (iv) ST ()
N FTHT & T T ?
() fam ) i Rt ()
(i) @weER (o) (iv) =g g
wea it are-fo fles i 2
M ws () (i) ¥ O
(i) A (V) (v) womREs [
g Se94 IS (Short answer type questions)
Qs TR T g I 7

Fori T T .
ﬁnmlﬂ \iu TUl EL bl -

TR T ¥ Prgor s aAT=faaTHE
NTH T FHTd T 2T ? y
IL BT TTHIT e A T TIE SR A AR YT

ATt ATE B B He & R A At N 2

.. m_ —.l—_um ST HAHAT 41 1% A Nn:m_ Nm“ hIH HLAl ﬂ__;muﬂ\ Mﬂﬂﬂ

iy’ G Bl e

Hi & Etd & a18 GAT & Sra &1 T ey AT ?

Far=T g1

Eref I 9T 99— (Long answer type questions)
BIE I" A AT B Siraw i fobt i afRRRrfaay @ amws & ger ?
4




ﬁmﬁ%umﬁﬁ@mmﬁ% Ev—%uﬁ%ﬂmﬂﬁﬁlﬁﬂ%ﬁaﬁi!ﬁéﬂm
ol @ ¥@ifda HfSTT— (The words that qualify the adjective are known as Sia9igor .
Underlinethe '9f@@|or’ in the following sentences.)

uT BR & HE F g5 =g oA

M TS FHER 3R STERT 27|
E!E»'iéc_l_a_@ SHRd &l

TER AT N & Gl &l ATl §=1371|
FS1 g 919 & g

fA=fafae fAgmo | waaras s 99180— (Change the following adjectives into

abstractnoun.)

adN =g ?‘é gz i?lﬁ

| T el —SAE

@l goar et ~Hlarge e

oo Hsadd) gfer  Zdad

ure ¥ 3y freferRee geras! @t w=fEra areal § g2 Hifdg— (Use these idioms in
your own sentences.)

Y A AR AT G GRS HAHT I

Sfa Tgre -1 ST qﬁw&qqémﬁrwmﬁ#ﬂndnq2g'
ofdl 76t S Fa -~ R G e A A d e e
y JGTICATCH oI o el

et Creative Activities
A 29 & fHEt uie woul A aed-arefaal i W gula 5u ve e a=Ee)

(Make a chart showing the number of boys and girls of five states in your country.)
TAHT AT | ATHITOTS SROTS # don W gRad= 31T 8T 81 dSo! 3N dSiadl &t
waTE ftrer Ry o w2 &1 eraw ofRarR & a7 sira-urw v 3l O uear = o
o faedt sredht A 1S wrefe wrf far

(There is a great change taking place in modern society. The same rights are given to
both boys and girls. Write anincident about the girl's boldness of your locality.)

800 BN B g B BN a0
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THAT AqA HO-Y

e R

———t

-

Q)
T fgaf— =%

-

R T Weﬂam_lgﬂ)
HI fog

oo ¥ o g gy T Sfese=led)
Oa = HTHAT .

e Pa.np —

q ~Tai

Hinpr  —T1

HIST ~RAT

c |
A6 -12,3,49,5 dleg —HY  (Tlg BT )

qs-2 3 Hm_aﬁ?ﬂﬁ_wﬂf_m—m__
en nelebork
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Check Point 1
o1 (a) space (b) molecules (c) attract
- 2. (a) Molecule (b) Plastic, Rubber, Water, Oil and Air
- Check Point 2
1. (a) liquid (b) Solid (c) gas
2. (a) Solid

liquid can be transformed into a

%aporation process.

‘TEST YOUR

gas on heating through

- 1. solid, gas 2. minimum/least 3. weak 4. liquid 5. gas

‘B. 1. Matter 2. Molecule 3. Intermolecular force 4. Rigidity 5. Gas

IC. 1. Anything which has mass and occupies space is called matter.

! 2. The smallest-part of a substance that can exist independently
in nature is called a molecule.

3. The substance which has definite volume

, of its own is called a liquid.

- 4. The substance which has neither a definite volume nor a definite

shape of its own is called a gas.

(a) Solids have a definite volume [ (a) Liquids have definite volume

and definite shape of their| but donot have definite shape
own. of their own.

(b) They do not flow but can be (b) They can flow but cannot be
heaped. heaped. -

(c) They are rigid and cannot be (c) They are nonrigid and can
compressed. be slightly compressed.

but no definite shape

. 1.

(a) Liquids have definite volume (a) Gases have neither definite

but do not have definite shape
of their own.

volume nor definite shape of
their own.

(b) Liquids can flow from higher
to lower level.

(b) Gases can flow in all directions.

(¢) Liquids are

(¢) Gasesare highly compressible.

slightly
compressible. -

3




one or more atoms together. ;
4. Three characteristies of molecules are as follows:

(a) Molecules of a substance are extremely small in siz
(b) Molecules of a substance attract each oth —E P

(c) All molecules of a particular substance are identical in shape,

size and mass.

a clean, dry glass tumbler and put it on the 3. False; Matter R nsbme

' The water level in the tumbler 5. True
goes on rising as mo i into it. A limit
on rising as more and more water is poured int |
may come when the tumbler is filled to its brim. 1f more w; :
is poured into the tumbler, then it will uverﬂ{!wand‘s rea
the table. This gutisity shows that water occupies spa)
3. Molecules are the smallest particle of a substance
independently exist in nature. They are forme

5. Sugar and apple are solid substances. :
6. Hydrogen and biogas are gaseous substances.
7. The three characteristies of liquids are as follows:

(a) I&quidshavednﬁnitevnlumbutmdeﬁniteahapeuftheir g

(b) The molecules of liquids are less closely packed.

(¢) The intermolecular forces in liquids are less strong a

compared to solids. .
8. A list of twenty objects is given below:

sponge, blackboard, juice.

Pencil, petrol, nitrogen, oil, chair, oxygen, duster, milk, wal
mpler,pgNG, book, table, alcohol, stone, mercury, water vapo

kPt 3 TIPSR PPN, . . ot
e 2L PO Ideined tandatd im £eim of obuch simb:las
Pencil Petrol boges 1. Anstamelard ’ el
Dugtan Milk s :
P Water 2. Three common unit systems being followed in daily life are
YRak Aleohol | () CGS system, (i) FPS system, and (iii) MKS (8]) system.
o Mercury 3. (a) a kilo = 1000 (b) a centi = iaker i 0.01
R Juice s . 100
Sp . - t{:)ami[]j:m:ﬂ.ml (d) a hecto = 100
Blackboard

»3 space is called matter. F. 1.—(b) 2.-(c) 3.-(a)

d by combi -;- 4 L) 2.(d) 3. (b) 4. ()

. 1. True
2. Eh]ae;MolecuIaacannotbeeasﬂyseenbythe use of a microscope.

4. True

6. False; Gases have neither finite shape nor finite mass. volume
- 1. Coconut oil; It is liquid but others are solid.

2. An antiseptic tablet; It is solid but others are liquid.

3. Sodawater; It is liquid but others are gas.

(HINK ZON]

S Stone

#] Carbon dioxide Milk
oo Wood ==

5 Book

Peneil

~ ® Iron piece is solid and rigid. So, it cannot be compressed.
® The constituent molecules of a solid are closely packed because
inteamo]ecu]a:spaceamongstthemoleculesofaaoﬁdisverysmaﬂ.
® The molecules of solids are held tightly together by strong

forces of attraction. So, they have fixed position and cannot
move, Therefore, solids do not flow.

« &

o
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4. A week consists of 7 days.

1 week = 7 x 24 % 60 x 60 seconds
=6,04,800 s

Check Point 2 &
1. (a) metre (b) left-side (c) digital
"9. (a) Balance (b) 12 inches
Check Point 3
1. second 2.37 3. 10000

:
A. 1. physical 2. one-hundredth 3. SI 4. physical balance 5. mercur;

B. 1. Gram 2.Centimetre 3.Kelvin 4.Measuring scale (or metre rod
5. Measurement 6. Thermometer 7. Stopwatch

Oneday=24hourﬂ=24><6{]x605econdq

4. Mass of an object is a measure of the quantity of matter contained
in it. The SI unit of mass is kilogram.

5. To determine the mass of an object using a beam balance, place
the given object on left pan of the balance. Standard weights
of appropriate values are placed on right pan of the balance
till the pans are balanced and the beam is perfectly horizontal. The
total sum of standard weights gives the mass of the given object.

~ 6. Following precautions should be followed while using a clinical
thermometer:
(i) The thermometer should be washed well before use.
(ii) Give few soft jerks to the thermometer so that initial reading
of mercury level is below 35°C.
(iii) Never hold the thermometer by the bulb.
(iv) Keep the thermometer in a person’s mouth under the tongue
for at least one minute.
(v) While reading th€ thermometer, hold it at the eye level,

1

C. 1. Measurement is the process of comparison o? a physical quantit
o with a fixed known quantity of the same kind.

3. Temperature is the degree of hotness or coldness of an obj :- ]
: i ) surements
1. Multiples of units are used for larger mea
e sultl:mupltiples of units are used for smaller mea.suren{ents.
2. Lower fixed point of a thermometer is the. melting po:;;. e?if p‘ _
ice at standard atmospheric pressure, whereas upper

of a thermometer corresponds to the boiling point of pure watf

at standard atmospheric pressure. ; ]
3. In MKS system, the units of length, mass and time are n:!t
. kilogram and second respectively. In FPS system, the uni Z
length, mass and time are foot, pound and second re;pelczw :
i ntity is ethi t can be measured. Lengt
1A sical quantity is something tha :
E m:sh:{ time,q volume, temperature, capacity, etc., are examples

% physicgl-m.nﬁtiefa...' i

© 2. While reading a measuring
ﬁons: n. g A ALY £

I()m scale should be placed along the Kengﬁbo:;mea:h 1

(il) While noting down the scale reading, ositi takeye -

be just above the point where reading is to be taken.

scale, oné should follow the follov

(i) If an edge of the scale is worn out or zero mark is invisib 2

thsndomtmsidwikuthe-m@t. o
ﬁmdamentalquamhmandthmﬂmtamgwen ;
&lz‘in)l;rmth—mﬁm (ii) mass — kilogram (iii) time — second
(iv) temperature — kelvin =

¢ 3. The constriction

(vi) Never wash the thermometer in hot water.
7. The normal body temperature of a healthy person is 37°C (98.6°F).
L-b) 2.-() 3.-@ 4.-() 5.-(c) 6.-@) 7.—(d

. ._ 1. False; The SI unit of length is metre.

2, True
3. True

4. False; A second is a standard international unit of time.
5. True

6. False; In a beam balance, mass of an object is compared with
masses of standard weights.

7. True

8. False; The symbol for 40 metres is 40 m, -

1. Newton; All other units are fundamental units but newton is
a derived unit.

2. Measuring tape; All other devices measure time but a
measuring tape measures the length.

3. Weight box; All other devices are used to measure the

temperature but weight box is used for measuring the mass.
4. Square metre; It is SI unit of area but others are units of length,

1. The standard unit should not change with place or time to avoid

confusion and inconvenience in measurement,

Since hectare is a multiple and bigger unit of area, it is used to

measure the bigger size like area of playgrounds and fields.

provided in the capillary tube of a clinical

thermometer prevents the fall of mercury column from its original
: 7
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